)
O m e} - - @o
— —
—
< "
H
H
\ ER
¥l 9~ 1 ¥1,/4~3,/8 1.4 B:JIS G 5705 FCMB 275-5
N1 1,/4~3 2.fh LU:JIS B 0203 #AF-,hU
3. XEAE  ARmESH-o=NII L
4, #R~iE:JITS B 2301 1C%AM
B :mm
a2 U azFvhbRvazAY-HE] azZ4vF vt iz
¥ dofl [ | £ [ b [ b, [CHEEE(B3]] 1§ [ “EBC (B%)] 2% THG 1/ai~3/d
=3 (32) | (8%) | (32) [ A& | 1A |(62) [ 7B | 1A L &) glactyy-t | 1 |SACZUIME gy
1/4 M26x1.5 |Rcl/4f 8 |1 71819 — |13.531] — |33.5 CoTOO0THY ®¢ 1/2~1
3/8 M31x2 |Re3/8) 9 [19120,5/23| — |16|37] — |38 3|azxvs vt 1 |FCMB 275-5
1/ M35x2 [Rel/2] 1 1]211(21.5/27| — |17]42] — |41 T4y ou 1 [FCMB 275-5
3/4 M42x2 |Re3/4| 13245 26|33| — [18.549| — |48.5 1 2-4vnt 1 [FCMB 275-5
1 M51x2 Rel |[15]27)29]41] — |20]59] — |54 = ] = e
11/¢ | Meox2 Rell/f17][30[32] — |50]|22 6960 - s
11/9 M68x2 |Rell/el18|331(35.5 — |561(24,5 — |78166.5 w8 o
2 M82x2 | Rc2 |20|371(39.5 — 69|27 — |93 74 Bl azd Y (CHTIAY - M) (T SHE)
21/2 | M100x2 [Re21/20 2342 45.50 — | 86129.5 — [112]83.5 7 =3
3 M115%x2 | Re3 | 254750 — [9932.5 — [127]92.5 = Us 22024*8*1
RESETEHASH %F1625083




